K S
PEEURARLA T RHL LIPS AFAS KN

H F;fr‘\w; Lo plet § oo 3 B o N 4eT
R g (2 7)=% % B(2 7)x(100/7 HE % 7 £ %)
Plde D R - fEn 2 R ZHE T HF OEF 2(N)130 = 7 0 BpHP.05)40

D70 F Y 49(K0)60 o T oI A %J} & £ 760 %(7r 130 = 7 x60/100=78
DT)E B AT R N EUR R mﬁ DE g e B g B 4o (10 2 T
Tre I r):
- % H e FeL e

Frfh4e=78 = 7 x100/21=% 370 = 7

B AL 4T =40 2 7 x100/18=1%) 220 = 1

% 1*42=60 = 7x100/60=100 => 7 -

s 55 Ag £l 2% 16% > T8 % > ¥ 1447 12 % - P;Hﬁ;16—8—12 fie > o

BT R Z B F et B o
dois * g R 78 o7 o7 R SEAF Ml § 5 78 o 7 x100/16=%) 490 = 7 o gt
- BB SEL LR P S F 9 40 o T (T 490x8/100) % 4 60 o T hf
it 49 (9 490%12/100) -

“‘I’&&

HETL D 5 G R R ERASEHRAG RTRET R
101.12.1



